System and algorithm
Dynamic intervals

Consider dynamic intervals instead of fixed duration intervals. The interval must not be fixed to 30 minutes but must be minimum X minutes and Y calls. X can be fixed to 10 or 15 minutes. Y shall be close to the number of calls passing within 10 (or 5) minutes during the peak time. It can be 100, 150, or 200.

Rejection algorithm

Use the following algorithm instead of the random one.

Algorithm of rejection in Openser (for the highest priority route) must be as follows

If [total received] – [rejected] < [target load] * [total received]

Then


Accept the call

Else


Reject the call

End If

